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Q.1 Inacode language, JOYFUL is written as 534, how will PLAYER be written in that
language?

Ans X A.430
* B. 488
& C.462
75 D.451

| Question ID : 1841223501
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Q.2 Select the figure that will replace the question mark (?) in the following figure series.

Bt ¥ |%a
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Ans
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& C.
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fi

[ Question ID : 1841223508

Q.3 IfS<H=M>TandM < P < D then which of following is correct?
Ans X A.M>D

K B.S=M
o C.S<P
A D.H>D

Question ID : 1841223498

Q.4 Three of the following four word-pairs are alike in some manner and one is different.
Ide ntify the one which is different.

Ans X A.Crocodile: Reptile
< B.Elephant : Mammal
#< C. Frog : Amphibian
" D. Snail : Fish

[ Question ID : 1841223507
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Q.5 Three of the following four letter-clusters are alike in some manner and one is
different. Identify the one which is different.

Ans o A RUXAC
X B.EHKNQ
X C.TWZCF
X D.KNQTW

[ Question ID : 1841223506

Q.6 Selectthe option thatis related to the third term in the same way as the second term
is related to the first term.

MTE :NGV ::PDX:______
Ans  F AKWC
X B.KVD
< C.sxB
X D.LWC

Question ID : 1841223505

_ == =
Q.7 Selectthe letter cluster that will replace the question mark (?) in the following series.

HQT, KUY, NYD, QCl, 2
Ans X A TFL

& B.TGN
X C.SGN
X D.TFM

[ Question ID : 1841223499
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Q.8

Ans

Q.9

Ans

Select the figure amongst the option figures which has the same characteristics as the two figures given below.
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[_ Question ID : 1841223510
L v

Which two nmumbers should be interchanged to make the given equation correct?
20 x 8+ 16 = 4-36 = 46

< A. 16and 36

< B. 8and 36

75 C. 20and 36

o

Question ID : 1841223514
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Q.10 Three statements are given, followed by two conclusions numbered | and Il.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statement:

All posts are e-mails.

Some posts are letters.

All emails are telephones.
Conclusions:

. Some telephones are letters.
Il. No email is letter.

Ans X A.Both conclusions land Il follow
«” B. Only Conclusion | follows
#< C.Only Conclusion Il follows

#< D. Either conclusion I or Il follows

Question ID : 1841223497

Q.11 If A + B means ‘A is the father of B’
A @ B means ‘A is the brother of B’
A # B means ‘A is the wife of B’

IfN+U@ M#C +G @ K, then how is M related to K?
Ans o A. Mother
25 B. Niece
< C. Daughter
< D. Sister

[ Question ID : 1841223504

Q.12 Three different positions of the same dice are shown, the six faces of which are numbered from | to 6. Select the

number that will be on the face opposite to the one showing ‘5°.

O

Ans o A3
& B.2
X C.6
X D.4

[ Question ID : 1841223512

Q.13 Vishal is standing in a park facing the east direction. Then he turns 145 degree
anticlockwise. After that he turns 90 degree anticlockwise. Which direction is he
facing now?

Ans & A South-west
< B. North-west
< C.South-east
< D. North-east

[ Question ID : 1841223502
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Q.14 Sarlais the mother of Kubra. Sankalp is the son of Manoj. Vinay's only son Manoj is
Kubra's brother. Yukta's only sister Sarlais married to Vinay. How is Yuktarelated to
Manoj?

Ans X A. Father's mother
< B. Father's sister
< C.Sister's mother
" D. Mother's sister

[ Question ID : 1841223503

Q.15 How many numbers are there in the string of elements given below which are
immediately preceded by avowel and are immediately followed by a consonant?
(Count from left to right)

4A6DE3A2U8G6ASD4P3A7A5Q2E3A4T6E7UL95A8N3ESC97D6
ESA

Ans X A.8
X B.7
X C.5
& D.6

Question ID : 1841223500

Q.16 Select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown below.
FI

FcRbsZ

 x~Sedfod
x=Xesdd9oad
v-XedfAsd
. ZedHcH

Question ID : 1841223511

Q.17 Three of the following four number pairs are alike in some manner and one is
different. Identify the one which is different.

Ans X A.21:443
& B.18:322
X C.12:146
X D.15:227

[ Question ID : 1841223513
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Q.18 Among six friends K, L, M, N, O and P; K scores more marks than P but lesser marks
than N. M scores lesser marks than L. O scores the highest marks. Three persons
scores more marks than N. Who scores the lowest marks?

Ans X A M
xB.L
& C.K
& D.P

[ Question ID : 1841223495

Q.19 Five persons A, B, C, D and E attend class on one of the five days from Monday to
Friday. On each day, one person attends the class. No class is held on Saturday and
Sunday. D attends the class on Monday. E attends just after B. C does not attend the
class on Tuesday. B is just after A. Who attends the class on Thursday?

Ans X A.B
X B.A
K cc
& D.E

Question ID : 1841223496
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Q.20 Three of the following four option figures are similar in a certain manner while one is
different. Choose the odd one out.

Ans ‘

h

& C.

[
oy

Question ID

: 1841223509

Q.1 Who among the following has been honored with DRDO’s "Scientist of the Year Award”
in 2020 for his contribution in developing several herbal medicines, including the
popular drug Lukoskin meant for the treatment of leukoderma?

Ans X A.Debdeep Mukhopadhyay
/% B. Saket Saurabh
#< C. Arun Kumar Shukla
" D. Hemant Kumar Pandey

[ Question ID

1 1841223515
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Q.2 Which of the following features in the Indian constitution was borrowed from the
constitution of France?

Ans X A.Method of election of President
75 B. Judicial review

75 C.Fundamental duties

4 D. Concept of Republic

[ Question ID : 1841223533

Q.3 In which year the Congress and the Muslim League signed the historic Lucknow Pact
and decided to work together for representative government in the country?

Ans o A 1916
X B.1915
 C.1919
X D.1920

Question ID : 1841223523

_—— e
Q.4 Which of the following statements is CORRECT?
Ans X A.GPS has four segments.
75 B. GPS has five segments.
4" C. GPS has three segments.
25 D.GPS has two segments.
[ Question ID : 1841223517

Q.5 In which year the American astronaut, Neil Armstrong, landed on the moon for the
first time?

Ans X A 1971
< B.1968
< C.1970
o D.1969

Question ID : 1841223532

Q.6 Which of the following de partment/ministry has been allocated ¥18,264.89 crore
under the Union Budget 2021-22?

Ans o A.The Department of Atemic Energy
< B.The Ministry of Earth Sciences
75 C. The Ministry of Science and Technology
75 D. The Department of Science and Technology

[ Question ID : 1841223527
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Q.7 In which year Timurid ancestry captured Delhi?
Ans X A 1378

< B.1388
« C.1398.
X D.1368

Question ID : 1841223522

Q.8 In which month and year Swarnjayanti Gram Swarozgar Yojana (SGSY) launched, aims at
bringing the assisted poor families (Swarozgaris) above the poverty line by organizing
them into Self Help Groups (SHGs) through a mix of Bank credit and Government
subsidy?

Ans X A. May 2014
#< B. October 1979
# C.March 1988
" D. April 1999

Question ID : 1841223519

Q.9 Who founded the Satyashodhak Samaj (Truth Seekers Society), which was devoted to
securing human rights and social justice for low-caste people?

Ans X A. Savitri Bai Phule

25 B.E.V.Ramasami Naickar

#% C. Sri. Narayana Guru ) o{\
X
@)

Ol

4 D. Jyotirao Govindrao Phule

A
N Question ID : 1841223518

9

Q.10 Who holds the National record in 100 m race in women's category as of 2021?
Ans X A.PT.Usha

¥ B. Dutee Chand
25 C.Saraswati Saha
5 D.Hima Das

[ Question ID : 1841223520

Q.11 In which year Sport Authority of India (SAI) was set up by the Government of India?
Ans X A.1980

& B.1984
X C.1972
X D.1976

[ Question ID : 1841223521
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Q.12 What is India’s rank in coal production in the world as of 2020?
Ans & A Second

< B.Fourth
#< C. Third

< D. Eighth

Question ID : 1841223531

Q.13 How many Scheduled Private Sector Banks are in India as of January 2022?
Ans X A.20

X B.18
X C.24
& D.22

[ Question ID : 1841223528

Q.14 How many parallel ranges are in the longitudinal e xtent of Himalaya?
Ans X A. Five

" B. Three

 C.Six
< D. Four

[ Question ID : 1841223529

_——ae—e———=
Q.15 In how many phases the Indian National Census 2011 has been conducted?

Ans X A Three

#< B. Four
75 C.One
" D. Two

Question ID : 1841223530

Q.16 Which of the following Bihu is also known as Rangali Bihu in Assam?
Ans X A.KatiBihu

” B.Bohag Bihu
2 C.Magh Bihu
#< D. Kongali Bihu

[ Question ID : 1841223526

Q.17 Which one is an immutable data type in Python?
Ans X A List

" B. Tuple
25 C. Dictionary

75 D. Set

Question ID : 1841223516
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Ans

Q.18 In which of the following places the K. M. Music Conservatory located?

" A.Chennai
#< B. Madurai
25 C.Kolkata
25 D.Bengaluru

Question ID : 1841223525

Ans

Q.19 In which Articles of the Indian constitution the constitutional body, Finance
commission is included?

< A. Article 155
«” B. Article 280
# C. Article 98

25 D. Article 324

Question ID : 1841223534

Ans

Q.20 Which of the following stupas are located in Sarnath?

#< A.Maha and Chakhundi

25 B. Dhamekh and Shanti

25 C.Maha and Dhamekh

4 D. Dhamekh and Chakhundi

Question ID : 1841223524

Section : Arithmetic Ability

Q.1

Ans

Number of students who have opted for subjects English, Mathe matics and History

are 36, 42 and 54 respectively. The examination is to be conducted for these students

such that only the students of the same subject are allowed in one room and the

number of students in each room is the same. What is the minimum number of rooms

that should be arranged to meet all these conditions?

X A8
X B.12
& C.22
X D6

[

Question ID : 1841223536

Ans

& A.20
2 B.30
X cC.25
X D.10

Q.2 The cost price of 30 articles is the same as the selling price of x articles. If the profit is 50%, then the value of x is:

Question ID : 1841223541
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Q.3 Approximately how many hours a day should 40 men work to complete the job in 20
days, if thirty men take 20 days to complete ajob working 9 hours a day?

Ans X A.5.30 hours
< B.6.75hours
" C.8.15 hours
#5 D.9 hours

[ Question ID : 1841223545

Q.4 Akash alone can do apiece of work in 6 days and Bina alone in 8 days. Akash and Bina
undertook to do it for ¥6,400. With the help of Dheeraj, they completed the work in 3
days. What is the difference between Akash's payment and Dhe eraj's payment?

Ans X A.32,400
7 B.23,200
7 C.%4,000
& D.32,800

Question ID : 1841223546

Q.5 Train A, 800 m long is running at 80 kmph will take how much time to cross a man
sitting in another train which is 400 m long, running at 64 kmph in the opposite
direction?

Ans X A 15sec
«# B.25sec
25 C.20sec
X D.18 sec

Question ID : 1841223547

Q.6 Inamixture of 120 litres, the ratio of milk and water 2 : 1. If this ratio is to be 1:2, then
the quantity of water to be further added is:

Ans X A.80L
X B.100L
o C.120L
< D.60L

Question ID : 1841223540

Q7 gimplify: 4 (10+15+5x4—2x2)= (42 + 2+ 3 X 3 — 22)
Ans A9

X B.85

X c7

& D.8

[ Question ID : 1841223538
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Q.8 ABCDis asquare of 40 cm. What is the area of the least-sized square that can be
inscribed in it with its vertices on the sides of ABCD?

Ans X" A 600 cm?
X B.800 cm?
& C. 400 cm?
2< D. 500 cm?

[ Question ID : 1841223550

Q.9 Three years ago, the average of A, B, and C was 27 years and that of B and C 5 years
ago was 20 years. A’s age five years later is:

Ans X A 45
& B.50
X C.40
X D.35

Question ID : 1841223549

Q10 Observe the table and answer the question given below.

Profit Margin | 2014 2015

Leather 10% 8%
Paper 12% 10%
Pharma 15% 12@

Technology 24% 28%

What is the vear over year percent increase or decrease in the profit?
Ans  # A 3% decrease

#X B.5% increase

< C.3% increase

75 D. 6% increase

[ Question ID : 1841223552

Q.11 A hemispherical bowl of diameter 16 cm is full of ice cream. Each studentin aclass is
served exactly 6 scoops of ice cream. If the hemispherical scoop is having aradius of
2 cm, then ice cream is served to approximately how many students?

Ans o A 13 students
#< B. 10 students
#< C. 12 students
25 D. 8 students

[ Question ID : 1841223551
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Q.12 Observe the table and answer the question given below.

Profit Margin | 2014 2015

Leather 10% 8%
Paper 12% 10%
Pharma 15% 12%

Technology 24% 28%

If the cost of leather products and paper to the manufacturer was Z1,20.000 each was their joint profit%e in the year
20147

Ans o A 11%
< B.22%
X C.17%
/< D.9%

[ Question ID : 1841223553

Q.13 The difference between the place value of the underlined digit in the two numbers
11.381and 53.31is ______.

Ans o A 49.92
% B.40.92
% C.42.00
< D.49.20

Question ID : 1841223535

_ _

Q.14 A vendor bought toffees at 7 for arupee. How many for arupee must he sell to gain
40%7?

Ans X A.3
& B.6
K C.5
® D.4

[ Question ID : 1841223542

: 2 A g :
Q.15 The average of 7 terms is 52 and the st term is = of the remaining terms. What will be the first number?

Ans X A 52
X B.24
& C.36
X D.91

Question ID : 1841223548

Q.16 The Simple Intereston asum of moneyis 16% of the principal, and the rate per annum
is equal to the number of years. Find the rate percent.

Ans o A4A%
< B.8%
K C.5%
X D.6%

[ Question ID : 1841223543
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Q.17 Two students A and B appeared at an examination. A secured 9 marks more than B and
his marks was 64% of the sum of their marks. The marks obtained by A are: (round off
to one decimal place)

Ans X A.11.5

X B.215
& C.206

X D.19.5

[ Question ID : 1841223539

Q.18 The X axis shows the number of years of Karan's service in a company and the Y axis shows his salary in thousands.
Observe the graph given below and answer based on it.

20

10
5 -1/

 T—

I

1 2 3 4
What is the percentage increase in Karan's salary from the first year to the fourth year?
Ans X A.300%

& B.400%
< C.500%
X D.200%

Question ID : 1841223554

Q.19 Mr. Mohan invests 15,000 for 3 years at 5% p.a. compounded interest reckoned
yearly. Income tax at the rate of 20% on the interest earned is deducted at the end of
each year. Find the amount he receives at the end of third year. (rounded off to the
nearestinteger)

Ans X A.%16,400
& B.216,000
7 C.216,457
X D.217,457

[ Question ID : 1841223544

Q.20 What will be the sum when, the largest 4 digit number from 9944, 9900, 9988, 9999
exactly divisible by 88, is added to the smallest 3-digit natural number divisible by 6?

Ans X A.10,064
7 B. 99,460
& C.10,046
< D.10,406

[ Question ID : 1841223537

Section : General English
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Q.1 Selectthe most appropriate option to fill in the blank.

The government will soon ______ the scheme of free ration at the door for the people
living below poverty line.

Ans X A. perform
" B.implement
25 C.practice
2 D. fulfil

Question ID : 1841223569

Q.2 Selectthe most appropriate option to fill in the blank.

I don'tknow ______ you would like my suggestion. Butthe ______ is bad and you
shouldn't go out at this time of the night.

Ans X A.Weather; weather
< B. Weather; whether
" C. Whether; weather
5 D. Whether; whether

Question ID : 1841223561

Q.3 Selectthe most appropriate option to fill in the blank.

The tiger growled ______ at the herd of deer.
Ans & A ferociously
X B. ferociousness
< C.ferocious
< D. ferocity

[ Question ID : 1841223556

Q.4 Selectthe most appropriate option to fill in the blank.

The captain ______ the ship only after everybody was safely in the life boat.

Ans X A.was leaving
w# B. left
75 C.leaves
5 D.is leaving

[ Question ID : 1841223557

Q.5 Selectthe most appropriate meaning of the given idiom.

to eat a humble pie
Ans & A to admit one's fault

< B.to scold someone
< C.to getirritated
5 D. to feel very hungry

[ Question ID : 1841223563
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Q.6 Complete the following proverb.

Allgood things ______ .
Ans X A.end fast

25 B. will eventually end
25 C.do not last for ever

" D. must cometo an end

[ Question ID : 1841223562

Q.7 Selectthe sentence part which has an error in spelling. If there is no error, select'No
error’.

The Board of Directors discussed the balence sheet of the company.
Ans X A TheBoard of Directors

" B. discussed the balence sheet
75 C. No error
75 D. of the company.

Question ID : 1841223566

_— e =
Q.8 Selectthe sentence which is meaningful and grammatically correct.
Ans o A Anju takes her dog for a walk every morning:

75 B. For a walk every morning her dog Anju takes.
75 C. Anju takes for a walk every morning her dog.

< D. Every morning for a walk Anju takes her dog.

Question ID : 1841223567

Q.9 Selectthe most appropriate option to fill in the blank.

Phoolan Deviwasa______ robber of her time.
Ans X A.famous
" B. notorious
< C.reputable

#< D. popular

[ Question ID : 1841223568

Q.10 Selectthe most appropriate option to fill in the blank.

The labourers ______ hard since morning to finish this wall today.
Ans & A have been working
75 B.work
75 C. were working
25 D. worked

[ Question ID : 1841223558
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Q.11 Select the most appropriate synonym of the given word.
GREGARIUS

Ans X A hostile

< B.introvert

" C.sociable

25 D.reserved

[ Question ID : 1841223560

Q.12 Select the most appropriate idiom to fill in the blank.

My parentand | do not ______ regarding my love for music.
Ans X A.pass the buck

< B.hit the roof

" C.seeeyetoeye

75 D. raise an eyebrow

Question ID : 1841223564

Q.13 Select the sentence part which has an error in spelling. If there is no error, select 'No
error’.

The saint told the soljiers that their king was in the garden.
Ans & A the soljiers that their king

< B.Thesaint told
#< C. No error
75 D.was in the garden

Question ID : 1841223565

_—— = =
Q.14 Select the most appropriate option to fill in the blank.

Please refrain ______ drinking coffee for aweek.
Ans X A of
«# B. from
75 C.for
75 D. with

Question ID : 1841223555

Q.15 Select the most appropriate synonym of the given word.
TRANQUIL
Ans  # A peaceful
#< B.nervous
75 C.stormy
75 D. excited

Question ID : 1841223559
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Comprehension:
Read the following passage and answer the questions given after it.

Otzi's discovery ranks as one of the greatest archaeological finds of the 20th century. Otzi
the Iceman is the well-preserved, 5,300-year-old mummy that caused an international
sensation when it was dug out of a glacier high in the Italian Alps in 1991.

Since that time, the naturally mummified individual - whom the press named Otzi because
he was found in the mountains above the Otztal Valley - has continued to attract intense
public interest and professional scrutiny as the man's mummified remains, the clothes he
wore and the implements he carried have been studied over the past few decades.

"He is so important because, for the first time, we have the possibility of knowing a Copper
Age individual who died in the same situation as he had lived," said Katharina Hersel, a
spokesperson for the South Tyrol Museum of Archaeology in Bolzano, Italy, where Otzi is
housed.

Otzi the Iceman was found by two German hikers who were making their way across the
Tisenjoch Pass at an elevation of 10,530 feet (3,210 meters) above the Otztal Valley in
western Austria in September 1991. T he hikers were skirting a glacier on the border of
Austria and Italy when they noticed the upper part of a human body protruding from the ice.
That summer had been particularly warm, Hersel said, and the high temperatures aided in
exposing Otzi's remains. The German hikers alerted the Austrian authorities, who, at first,
thought the body was the victim of an unfortunate mountaineering accident. T his
assumption prompted a hasty attempt to extract the body from the ice the following day.
The rescuers, none of them trained archaeologists, tried to dig Otzi out of the ice using
axes and jackhammers. In the process, parts of the mummy -including the left hip and thigh
and a few of his tools, including his bow - were damaged. Bad weather scuttled this first
attempt to free the body from the ice, so the authorities tried again the next day. The rescue
attempt took longer than anticipated, but five days after Otzi's discovery, the mummy was
freed from the ice and fully exposed.

A helicopter carried the mummy off the mountain, and the iceman was transported to the
Institute of Forensic Medicine at Innsbruck Medical University in Austria. T here, Konrad
Spindler, an archaeologist at the University of Innsbruck, examined the remains and
announced that the mummy was not a mountaineer but was "at least 4,000 years old,"
Scientific American reported.

SubQuestion No : 16 ] OQ
Q.16 The central theme of the passage is: (’)Q
Ans X A. mummification of Otzi, the Iceman 5\}0
A
75 B.importance of Otzi, the Iceman '\Q\

@)

«# C. discovery of Otzi, the lceman

25 D. preservation of Otzi, the Iceman

Question ID

1 1841223571
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Q.17

Ans

Comprehension:
Read the following passage and answer the questions given after it.

Otzi's discovery ranks as one of the greatest archaeological finds of the 20th century. Otzi
the Iceman is the well-preserved, 5,300-year-old mummy that caused an international
sensation when it was dug out of a glacier high in the Italian Alps in 1991.

Since that time, the naturally mummified individual - whom the press named Otzi because
he was found in the mountains above the Otztal Valley - has continued to attract intense
public interest and professional scrutiny as the man's mummified remains, the clothes he
wore and the implements he carried have been studied over the past few decades.

"He is so important because, for the first time, we have the possibility of knowing a Copper
Age individual who died in the same situation as he had lived," said Katharina Hersel, a
spokesperson for the South Tyrol Museum of Archaeology in Bolzano, Italy, where Otzi is
housed.

Otzi the Iceman was found by two German hikers who were making their way across the
Tisenjoch Pass at an elevation of 10,530 feet (3,210 meters) above the Otztal Valley in
western Austria in September 1991. T he hikers were skirting a glacier on the border of
Austria and Italy when they noticed the upper part of a human body protruding from the ice.
That summer had been particularly warm, Hersel said, and the high temperatures aided in
exposing Otzi's remains. The German hikers alerted the Austrian authorities, who, at first,
thought the body was the victim of an unfortunate mountaineering accident. T his
assumption prompted a hasty attempt to extract the body from the ice the following day.
The rescuers, none of them trained archaeologists, tried to dig Otzi out of the ice using
axes and jackhammers. In the process, parts of the mummy -including the left hip and thigh
and a few of his tools, including his bow - were damaged. Bad weather scuttled this first
attempt to free the body from the ice, so the authorities tried again the next day. The rescue
attempt took longer than anticipated, but five days after Otzi's discovery, the mummy was
freed from the ice and fully exposed.

A helicopter carried the mummy off the mountain, and the iceman was transported to the
Institute of Forensic Medicine at Innsbruck Medical University in Austria. T here, Konrad
Spindler, an archaeologist at the University of Innsbruck, examined the remains and
announced that the mummy was not a mountaineer but was "at least 4,000 years old,"
Scientific American reported.

SubQuestion No : 17

The finding of Otzi is archeologically important because:

a. The body is well preserved.

b. It is a naturally mummified individual.

c. Itis 5,300 years old.

d. It was found at an elevation of 10,530 feet.

Which of the above reasons are correct?
« A.a,bandc

X B.a,bandd
X C.a,candd
X D.bcandd

Question ID

1 1841223572
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Comprehension:
Read the following passage and answer the questions given after it.

Otzi's discovery ranks as one of the greatest archaeological finds of the 20th century. Otzi
the Iceman is the well-preserved, 5,300-year-old mummy that caused an international
sensation when it was dug out of a glacier high in the Italian Alps in 1991.

Since that time, the naturally mummified individual - whom the press named Otzi because
he was found in the mountains above the Otztal Valley - has continued to attract intense
public interest and professional scrutiny as the man's mummified remains, the clothes he
wore and the implements he carried have been studied over the past few decades.

"He is so important because, for the first time, we have the possibility of knowing a Copper
Age individual who died in the same situation as he had lived," said Katharina Hersel, a
spokesperson for the South Tyrol Museum of Archaeology in Bolzano, Italy, where Otzi is
housed.

Otzi the Iceman was found by two German hikers who were making their way across the
Tisenjoch Pass at an elevation of 10,530 feet (3,210 meters) above the Otztal Valley in
western Austria in September 1991. T he hikers were skirting a glacier on the border of
Austria and Italy when they noticed the upper part of a human body protruding from the ice.
That summer had been particularly warm, Hersel said, and the high temperatures aided in
exposing Otzi's remains. The German hikers alerted the Austrian authorities, who, at first,
thought the body was the victim of an unfortunate mountaineering accident. T his
assumption prompted a hasty attempt to extract the body from the ice the following day.
The rescuers, none of them trained archaeologists, tried to dig Otzi out of the ice using
axes and jackhammers. In the process, parts of the mummy -including the left hip and thigh
and a few of his tools, including his bow - were damaged. Bad weather scuttled this first
attempt to free the body from the ice, so the authorities tried again the next day. T he rescue
attempt took longer than anticipated, but five days after Otzi's discovery, the mummy was
freed from the ice and fully exposed.

A helicopter carried the mummy off the mountain, and the iceman was transported to the
Institute of Forensic Medicine at Innsbruck Medical University in Austria. T here, Konrad
Spindler, an archaeologist at the University of Innsbruck, examined the remains and
announced that the mummy was not a mountaineer but was "at least 4,000 years old,"
Scientific American reported.

SubQuestion No : 18

Q.18 The body of Otzi and his tools were damaged mainly because:

Ans

75 A.the bad weather caused delay in extracting the body
75 B. he had been a victim of an accident
4 C.theuntrained rescuers used jackhammers and-axes

25 D. the hikers tried to extract him out of the ice

Question ID

1 1841223574
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Q.19
Ans

Comprehension:
Read the following passage and answer the questions given after it.

Otzi's discovery ranks as one of the greatest archaeological finds of the 20th century. Otzi
the Iceman is the well-preserved, 5,300-year-old mummy that caused an international
sensation when it was dug out of a glacier high in the Italian Alps in 1991.

Since that time, the naturally mummified individual - whom the press named Otzi because
he was found in the mountains above the Otztal Valley - has continued to attract intense
public interest and professional scrutiny as the man's mummified remains, the clothes he
wore and the implements he carried have been studied over the past few decades.

"He is so important because, for the first time, we have the possibility of knowing a Copper
Age individual who died in the same situation as he had lived," said Katharina Hersel, a
spokesperson for the South Tyrol Museum of Archaeology in Bolzano, Italy, where Otzi is
housed.

Otzi the Iceman was found by two German hikers who were making their way across the
Tisenjoch Pass at an elevation of 10,530 feet (3,210 meters) above the Otztal Valley in
western Austria in September 1991. T he hikers were skirting a glacier on the border of
Austria and Italy when they noticed the upper part of a human body protruding from the ice.
That summer had been particularly warm, Hersel said, and the high temperatures aided in
exposing Otzi's remains. The German hikers alerted the Austrian authorities, who, at first,
thought the body was the victim of an unfortunate mountaineering accident. T his
assumption prompted a hasty attempt to extract the body from the ice the following day.
The rescuers, none of them trained archaeologists, tried to dig Otzi out of the ice using
axes and jackhammers. In the process, parts of the mummy -including the left hip and thigh
and a few of his tools, including his bow - were damaged. Bad weather scuttled this first
attempt to free the body from the ice, so the authorities tried again the next day. The rescue
attempt took longer than anticipated, but five days after Otzi's discovery, the mummy was
freed from the ice and fully exposed.

A helicopter carried the mummy off the mountain, and the iceman was transported to the
Institute of Forensic Medicine at Innsbruck Medical University in Austria. T here, Konrad
Spindler, an archaeologist at the University of Innsbruck, examined the remains and
announced that the mummy was not a mountaineer but was "at least 4,000 years old,"
Scientific American reported.

SubQuestion No : 19

Which of the following statements is NOT true according to the passage?

5 A. Otzi's mummified remains, the clothes he wore and the implements_ he carried have
been studied by archaeologists.

/% B. Otziis important because the archeologists have a chance to study an individual
who died in the same situation as he had lived.

/% C.0tzi was found buried in a glacier on the ltalian Alps.

" D. Otzi, the Iceman belonged to the bronze age.

Question ID

: 1841223575



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Comprehension:
Read the following passage and answer the questions given after it.

Otzi's discovery ranks as one of the greatest archaeological finds of the 20th century. Otzi
the Iceman is the well-preserved, 5,300-year-old mummy that caused an international
sensation when it was dug out of a glacier high in the Italian Alps in 1991.

Since that time, the naturally mummified individual - whom the press named Otzi because
he was found in the mountains above the Otztal Valley - has continued to attract intense
public interest and professional scrutiny as the man's mummified remains, the clothes he
wore and the implements he carried have been studied over the past few decades.

"He is so important because, for the first time, we have the possibility of knowing a Copper
Age individual who died in the same situation as he had lived," said Katharina Hersel, a
spokesperson for the South Tyrol Museum of Archaeology in Bolzano, Italy, where Otzi is
housed.

Otzi the Iceman was found by two German hikers who were making their way across the
Tisenjoch Pass at an elevation of 10,530 feet (3,210 meters) above the Otztal Valley in
western Austria in September 1991. T he hikers were skirting a glacier on the border of
Austria and Italy when they noticed the upper part of a human body protruding from the ice.
That summer had been particularly warm, Hersel said, and the high temperatures aided in
exposing Otzi's remains. The German hikers alerted the Austrian authorities, who, at first,
thought the body was the victim of an unfortunate mountaineering accident. T his
assumption prompted a hasty attempt to extract the body from the ice the following day.
The rescuers, none of them trained archaeologists, tried to dig Otzi out of the ice using
axes and jackhammers. In the process, parts of the mummy -including the left hip and thigh
and a few of his tools, including his bow - were damaged. Bad weather scuttled this first
attempt to free the body from the ice, so the authorities tried again the next day. T he rescue
attempt took longer than anticipated, but five days after Otzi's discovery, the mummy was
freed from the ice and fully exposed.

A helicopter carried the mummy off the mountain, and the iceman was transported to the
Institute of Forensic Medicine at Innsbruck Medical University in Austria. T here, Konrad
Spindler, an archaeologist at the University of Innsbruck, examined the remains and
announced that the mummy was not a mountaineer but was "at least 4,000 years old,"
Scientific American reported.

SubQuestion No : 20
Q.20 The hikers who found Otzi were:
Ans X A. Austrians

75 B. Americans
«” C. Germans
25 D. ltalians

Question ID : 1841223573

Se

Q.1 f= arei A | @y arer &-
Ans X A.3d & IRE o 84 UgT g B Tl

o B. S1hTA TS 3R ART /)
X C. 93t oiftg 9 e 34 =g
& D. #Yye i &l ST STt 9gd gaar-uden ATl

[ Question ID : 1841223587
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Q.2
Ans

'’ A ISTEIT &-
X A gugaradhs foar faiwor et

75 B. @Farae fohar fasivor &t
o C. uRmToT araes fomar fagiwor a6t
< D. dfqaraes forar fasiaor a1

[ Question ID : 1841223577

Q.3

Ans

3 arez @ arerr quf RifSrg-

Question ID : 1841223589

_———= @ -_—=

Q.4
Ans

fam & @ fop 931 g & 'A19' vy St fasivor ey gAm-

o A R
X B.oH
X Caa
X D. i

L Question ID : 1841223576

Q.5
Ans

"I A §-

X At
X B. smfe &Yy
X C.qurdfa
o D. AT

[ Question ID : 1841223578

Q.6

Ans

daw @ i faeds 8-
K ATI+IH
KX BUa+H
X C.u=r+ 3

o D.Uq+ 399

Question ID : 1841223579
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Q.7 3 ferea 1 T &R arer &t gof -

AT Rl arEERad 2!
Ans o AL STRIT

X B.w®

X C.omaRe

X D.um

[ Question ID : 1841223590

Q.8 3fa geTR ¥ arer guf fifSig-

Question ID : 1841223584

Q.9 '@IE EH MR T AgHTH g HgTaR &1 A g-
Ans X A 9@ HgHr

o B. 7 & g g
X C. g g o
75 D. 2 & W I

Question ID : 1841223583
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Q.10 fa=1 & & 'fawy’ @1 uafa =g 8-
Ans X A fay

o B. TR
< C.area
X D. &

[ Question ID : 1841223581

Q.11 'sifae sft a9-79 @ opi< ger @ &1' arer I&Tevor 8-
Ans X A @fqwradam et

75 B. gmI1e gdAM hT
75 C. 9= g HH T
o D. dTchIereh Iefa T
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Q.12 are f=ara Y gf® & sreyg arer &-
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25 D. Arar-furar &Y a1 gt 1 Hd gl

[ Question ID : 1841223588

Q.13 A= d & 'gefter’ a1 foeiy a= &-
Ans X A ssdte

" B.gf

X C.3u

75 D. srasfer

Question ID : 1841223580

_
Q.14 = 9 @ o1=- @1 faeiw grm gfea =8 8-
Ans X A I - A
& B &fa - Far
X C. 9= - fafre
«” D. TS - gUe
[ Question ID : 1841223582

Q.15 '&iE Wit A &t ga1 T hl ©9R 1Y A AT IS FeAeT hg o gl
Ans o A BRI M=

/X B. @i gdam

X C. guren »fasg

75 D. gm= vfasg
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Comprehension:
7 7Y TEriRT & SR TR U%T & ITR Y-

TSI Q12Meh &1 g h TG STIeT H T Qb STdTea] deh Jg) SRTSTehdTquT fefdy same 3gT1 rfehemedt
HERT T h TG H SRTSTh AUl AT & 7 STenR il =1 STad QIdTea! o He § TiuTel A8k foh el
gf<h Y STUT Mk T, ST STl oh Ui UTed &R AT TeATUeh &1 IR ¥R H 39 THY STgl
LIRS ISTERN T Fdid ST o7 I8 34 [AuRId Sferor vYRa & T IS er 1 36d s g
U ga1MI 733 £, # Sifdg i A AEGT TSy ST R Y| ST QdTedl & IR H dharel iR i
IRRET STRIET AERT AT AT ATI ST AT uTed, UfIgR ok AEhe Ieh Qrfchg T T 71 ISTHRT
ST UR 39T AU 1A1fd 3 g &1 st UR AUy & fog 37 fiFl Agreihal & e duf
&1 'Prusfta dud' w1 Siar 81 a8 gud gt Al vd duw Rt § e ue daredt de weldn 8T
3R Sia: ToR-UfAER HHsT R snfivs wiftd & & wwhd ge1 39 Hrusafiy gof &1 wror svast 7R
TR YRR HIA Y SRR AT g1 ATI ST aRdd § 37 A1+ Agieiihal & gg<arenierai a1 shier -
I IT| AT Geide SR R 3 T o1 agl Aga W@ AT S TR g H ure forg a1 o7
ST 3T ITR UR T ATk Y T UcdIeh AT| 37 THB TN TsT-feh FgT ARKAT GRT et IR
U AT T T ATera a3 @refifaen ot

SubQuestion No : 16
Q.16 3T AATEY & At & fawg 7 g 78 8-
Ans X A. &S ARFT TS rdTse) dah ruefia gud 1 s Ror A 26T

X B. 3ad rarsd # hAlst 9Rd chl STtfceh Y &1 Ucfleh T
X C. g 9 ggifhal &Y ag<areniell &1 shig-wrd = a7 U7l

o D. 3TN H halel T qg! Agd AT ST 7T THTST H TATT &7 21

Question ID : 1841223596

Comprehension:
g Y TEiRT & SR UR Ul & IR I

3T Q12Meh &1 g h &G STeT § T G IdTSaT deh a8t SRIsTehdTquT (efd eame 3g1| ifehemett
FHE T & AT H SRISTh AUl [ & d 311z Nl =1 STl QraTedt & 7eg H Muret Areh e
Ok Y STUAT MAH AT, ST &It ok UiRieg UTed iR ehT TRk 11 IR MR § 3 TH STaT
TfharTeRt IreTd et &1 fAdia s o1 a8t g8k fudia f&ior \iRa & gard} rsree &1 35g s g Y
U goTI 733 €. # Sifdg A AERT TS T R 1| ST dTed] & TR H dharel IR i
IRRETT STRIET AR AT AT ATI ST AT UTed, WiAER 8k AFRE ITeh Qrfhe T T 1 ISTHRT
ST UR 70T AT SrATiUd AT ATed & | el IR AU o forg 37 &= Fgrifeal & Aeg doy
&1 'Prusfta gy w1 ST 81 a8 gud gt fafts ud due DRfaat & e ue dredt de weldr 38T
3R Sfad: ToR-UMER HdeT TR SO VAU 6 # 9hd 91 59 sl oy &1 HRursds TR
TR AfYHR HIA hT SAThTL AT g1 AT| ol aread & 3 -1 AR hT Ag<aThieTTsii T dhier -
I AT| AT Ge-faeh SR mRen 3 T o agl Ag<a WadT U7 & TR g § ure forgs a1 o
RIS 3T IR TR ehl AT G T Uelich UTI 37d: THEATA A ST-ITdeh HT KAl GRT @ TR
T AT T hT ATera a3 w@refifaen o

SubQuestion No : 17
Q.17 '®rHfYE &1 1Y g-
Ans X A I@pfa @ gefda

7< B. orf § Haifda
o C.gg 9 Tdfdg
< D. GHST § Haifdd

[ Question ID : 1841223592
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Comprehension:
QY TEriRT & SR UR U%T & ITR EIfIg-

TSI Q12Meh &1 Heg h TG STTIeT H T Qb STdTea] deh Jg) SRTSTehdTqul fefdy eame 3gT1 rfehemedt
HERT T h ST H SRTSTh AUl AT & 7 STenR Tl =1 STTad IdTea! o He § TidTel A9k foh et
f<h Y STUT Mk T, ST STl oh Ui UTed &R AT TeATUeh &1 IR ¥R H 39 THY STgT

TR ITSTERT T Fdid ST o7 a8 34 [AuRId Sferor YRa & gt Israer 1 36d s g
U g31MI 733 £, # Sifdg i A IEGT TSy ST R Y| ST QdTedl & IR H dharel iR Adid
QIRREIT STRIET AMERT AT AT ATI ST AT uTed, UfdgR ofR AEhe ITehT Qrfchg T &1 1% ISTHRT
ST TR 39T AU 1A1fd 3 g &1 st UR 3nfAucy & fow g fiFi Agreihal & ey duef
&1 'Prusfta gy w1 Sar 81 a8 gud gt Al v duw Rt § e ue Qaredt g weldr 8T
3R SiTa: ToR-UfAER HeT R SN Wit & & 9whd ge1 39 fHrusfiy dof &1 wrorsast 7R
TR YRR HIA Y SRR AT g1 UTI ST aRdd § 37 A1+ Agieiihal & gg<arenierai a1 shier -
I ITI AN Ge-iae SR AmRen 3 T o1 agl Aga W@ AT &l TR g H ure forgs a1 o7
ST 3 ITR UR T STk Y BT UcdIeh AT| 37 THH TN TsT-Tdeh FgT ARKAT GRT et IR
T AT T T ATerar a3 @refifaen ot

SubQuestion No : 18
Q.18 3T AT} & MW F Al & ATHF -

Ans o AL STIY
/< B.uw
X C.ufasr
< D.IEge

Question ID : 1841223593

Comprehension:
g Y TETiRT & SR UR UeT & IR &I

3T Q12Meh &1 g Sh TG ST § T o IdTeaT deh agt SRISTehdTq Ul (efd eame 3@l ifehemett
A T & AT H SRS ATUT (A & d7 371z AT =1 STl QraTedt & 7eg H Muret Areh e
Sk Y STUAT MAh T, ST &Il o UG, UTed SR ehT T=ATTeh 11 IR MR | 3G TH STaT
IfharTeRt IreTa et &1 fdid s o1 a8t g8k fudia f&ior wiRd & gard} sree &1 35g s g Y
TR goTI 733 €. # Sifdg A AR TS T R A1 | ST dTed] & TR H dharel W i
IRRETT STRIET AMEART AT AT ATI 3T AT UTed, WiAER SR AFhE ITeh Qrfhe T T 1 ISTHRT
ST UR 70T AT STATIUA AT ATgd & | el IR AU & forg 37 & Fgrieal & Ae doy
&1 'Pruefta gy w1 ST 8| ag gud gt fafts ud due [DRfat & e ve Qdredt deh weldr 38T
3R Sfed: ToR-UMTER HdeT IR SO VAU & # 9hd 9| 59 Fuafiy oy &1 HRursds TR
TR IHfYHR HIA hT SAThTL AT g1 2AT| ol aread H 3 di-1 AR hl AgTaThieTTsii T dhier -
I AT| AN Ge-fae SR mRen 3 T o agl Ag<a WadT AT &1 TR g § ure forgs a1 o
RIS T IR TR ehl ASTITeh YR T Ueiieh UTI 3Td: THERTA ST-lTdeh HT KAl GRT @S TR
U AT T T ATera a3 w@refifaen o

SubQuestion No : 19
Q.19 fuefia gl & fawg F sraw -
Ans X A 7g o S 0R SfU Y el ol

7% B. gg Busfia gud emer g ATt da I T

o C. U, UfigR ok arqgey d2if & #eg ag du gam
25 D. UfIERi gRI st IR s UTe &3 § a8 dae FATd g3l

[ Question ID : 1841223595
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Comprehension:
Q7Y TEriRT & SR UR U%T & IR EIfIg-

TSI Q12MTeh &1 g h TG STTIeT H T Qb TdTea] deh ag) SRTSTeh dTquT fefdy eame 3@t rfehemedt
HERT T h AT H SRTSThaTyU AT § 7 STery il = TS dl *IdTed! & Hed & 7Tl Ak fohdt
gf<h Y STUT Mk T, ST STl oh Ui UTel a1 AT TeATUeh &1 IR ¥R H 59 THY STgT
LIRS TSTERT T Fdid ST o7 g8 34 [AuRId Sferor YRa & gt Israer 1 3ed s g
TR g31I 733 E. # Sifdg i A AEGT TSy ST R Y| ST QdTedl & R H dharel R i
IRRE STRIET AMERT AT AT ATI ST AT uTed, HfAgR ok AFhe ITehT Qrfchg T T 1% ISTHRT
ST TR 39T AU 1A1fd 3 g &1 st UR Ay & fog 3 fiFl Agreihal & e duf
&1 'Prusfta gy w1 Sar 81 a8 gud gt Al vd dus Rt § e ue Qaredt de weldn 8T
3R Sia: ToR-UfAER HHsT R snfivs wiftd & & Twhd ge1 39 Hrusffy dof &1 wror st 7R
TR IfARR HIA Y SRR AT g1 ATI ST aRdd § 37 A1+ Agieiihal & gg<arenierai a1 shier -
I IT| AN Ge-ide SR AR 3 T o1 gl Aga W@ U7 Sl TR e H Ure forg &1 o7
AT T ITR UR T ATk Y BT UcdIeh AT| 37 THH TN IsT-Tdeh AT ARKAT GRT et IR
T AT T hT ATerar a3 @reifaen ot

SubQuestion No : 20
Q.20 A7 & & STAT ZI0 AT g3 ATHS AT-

Ans o A THOTA

< B.g¥

X C.sifagf

< D. =1

Question ID : 1841223594
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Q1 calcuate the angle between the lines, m —v/3n —,@gbﬂ andvV3m—-n+6=0.
Ans o A 30 <

X B.60

5 C.50

< D.45

Question ID : 1841223603

Q.2 Consider the below statements with respectto “Resistance of common types of
Earth electrodes” and Identify the correct answer.

Statement A: A plate has a much lower resistance than a pipe, rod or strip of equal
surface area.

Statement B: For higher current density requirements plate earthing may be preferred
over pipe/rod earthing.

Ans X A. Statement A is correct and B is incorrect
#< B.Both satements are correct
7< C.Both statements are incorrect

" D. Statement B is correct and A is incorrect

[ Question ID : 1841223614
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Q.3 Two solutions of a substance (non electrolyte) with a different values of molarity (M)
are mixed, volume of first solution is 300 mL with 1.2 M and volume of second
solution is 500 mL, Calculate the molarity of second solution if the molarity of final
mixture is 1.5?

Ans X A.0.79M
X B.1.95M
o C.1.68M
X D.242M

Question ID : 1841223599

Q.4 Solubility of atmospheric oxygen in fresh water ranges from ______ at 0° C to about
______ at 35° C under 1 atmosperic pressure-measured in DO meter.

Ans X A.3mg/l, 6.5mg/l
25 B.1mg/l, 5mg/I|
" C.14.6 mg/l, 7 mg/I
£ D.25mg/l, 15.5 mg/I

Question ID : 1841223600

Q.5 Consider the below statements with respect to work and power and identify correct
answer.

Statement A: The Sl unit of work is Joule (J).
Statement B: Power doesnot depend on time.

Ans & A Statement A is correct and B is incorrect
< B. Both satements are correct
< C. Both statements are incorrect

25 D. Statement B is correct and A is incorrect

[ Question ID : 1841223610

Q.6 Consider the below statements with respect to analysis of coplanar non concurrent
force system and Identify the correct answer.

Statement A: If the resultant force of aforce system is directed upwards and truly
vertical, then the net effect of force system in horizontal direction is equal to zero.
Statement B: If the resultant force of aforce system is truly vertical, then the net
effect of force system in vertical direction is equal to magnitude of resultant force.

Ans X A.Both statements are incorrect
«” B. Both satements are correct
#5 C. Statement A is correct and B is incorrect

25 D. Statement B is correct and A is incorrect

[ Question ID : 1841223605
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Q.7 As per|S 10500 :2012, maximum acce ptable limit for the total dissolved solids
presentin drinking water is

Ans 4 A 500 mg/I
< B.100 mg/I
7 C.750 mg/I
2< D. 250 mg/!I

[ Question ID : 1841223601

Q.8 Two concurrent forces are acting at a point are shown in figure. If the resultant of these two forces is 1216.55 N,

calculate the net effect of shown forces in vertical direction. Take the direction of 600 N is truely vertical and € is 60".

BOO N

Ans X A 600N
X B.1121.62 N
7 C.800N
& D.1000 N

Question ID : 1841223604

Q.9 Which of the following theorem states that “alinear two-terminal circuit can be
replaced by an equivalent circuit consisting of a voltage source Vty in series with a
resistor Rty", where Vyy is the open circuit voltage at the terminals and Rty is the

input or equivalent resistance at the terminals, when the independent sources are
turned off

Ans X A.Norton's Theorem
5 B. Superposition T heorem
" C. Thevenin's Theorem

#< D. Maximum Power Transfer T heorem

Question ID : 1841223613

Q.10 Schematic representation of Lee’s apparatus used to determine thermal conductivity of a material is shown in below
figure, identify the experimental specimen used in this experiment.

Steamin =

* Steam Qut

T2
Glassdisc(6) —*
T

M| Brass Base B l

e ———
| Brass DiskC

Ans X A.Brass BaseB
2 B.Brass Disk C
«# C.Glass disc (G)
#< D. Steam

-

X

[ Question ID : 1841223598
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Q.11 Consider the below statements with respect to “Power transmission devices used to
transmit power from one shaft to another” and Identify the correct answer.

Statement A: Belt drives are used where exact velocity ratio is not required.
Statement B: The chain drive is considered as positive drive as no slip is observed
during power transmission.

Ans X A.Both statements are incorrect
/< B. Statement B is correct and A is incorrect
" C. Both satements are correct

#< D. Statement A is correct and B is incorrect

[ Question ID : 1841223615

Q.12 Consider the below statements with respect to dry corrosion of metals and identify
correct answer.

Statement A: Dry corrosion occurs usually in the presence of gases and vapours
Statement B: Dry corrosion occurs mainly at high temperatures in the absence of
moisture.

Ans X A.Both statements are incorrect
«# B. Both satements are correct
5 C. Statement B is correct and A is incorrect

#< D. Statement A is correct and B is incorrect

[ Question ID : 1841223602

Q.13 Consider the below statements with respect to 'Ohm law applicable for conductors'
and Identify the correct answer.

Statement A: It does not hold true for nonlinear devises such as semiconductors and
zener diodes.
Statement B: It is not applicable to non metallic conductors, such asilicon carbide.

Ans & A Both satements are correct
75 B. Statement A is correct and B is incorrect
#< C. Statement B is correct and A is incorrect

< D. Both statements are incorrect

[ Question ID : 1841223612

Q.14 Coulomb's law states that:

Ans X A.the force of attraction orrepulsion acting along a straight line between two electric
charges is directly proportional to.the sum of the charges and inversely to the distance
between them.

«# B. the force of attraction or repulsion acting along a straight line between two electric
charges is directly proportional to the product of the charges and inversely to the square of
the distance between them.

#< C. the force of attraction or repulsion acting along a straight line between two electric
charges is directly proportional to the square of the product of charges and inversely to the
distance between them.

< D. the force of attraction or repulsion acting along a straight line between two electric

charges is inversely proportional to the product of the charges and directly to the square of
the distance between them.

[ Question ID : 1841223597
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Q.15 A block of weight 600 N resting on a horizontal surface is subjected to a horizontal
push of 300 N force, calculate the friction force developed at the contact surface, if
the coefficient of friction between two materials is 0.3.

Ans X A.210N
& B.180N
X C.90N
< D.250 N

[ Question ID : 1841223611

Q.16 Identify the incorrect statement with respect to classification of boilers according to
location of furnace.

Ans X A. Option boiler is a internally fired boiler
¥ B. Lancashire boiler is a externally fired boiler
#< C. Cornish boiler is a internally fired boiler

# D. Bobcock and Wilcox boilers are externally fired boilers

Question ID : 1841223616

Q.17 Rectilinear motion of a particle is defined by the relation x = 2¢% — 3t® + 102 — 5. Calculate the acceleration when

time (£) = 3 sec. consider that value * x * is measure in meters.

Ans  # A.30 m/sec
< B.14m/sec
25 C.52m/sec
25 D.46 m/sec

Question ID : 1841223608

S —
Q.18 Arectangular lamina having base width AB = 5 mm and depth BC = 10 mm is as shown in below figure. Calculate its

moment of inertia about its base AB .

¥

A B

Ans X A 1244.88 mm*
# B.956.78 mm*
X C.183477 mm*
& D.1666.66 mm*

Question ID : 1841223607
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Q.19 Which of the following is the correct expression for the calculation of centrifugal

Ans

force (F) experienced by an object during its curvilinear motion.
Where, w = Weight of revolving object, v = velocity at radius ‘r' on body, g =
acceleration due to gravity, r = perpendicular distance from axis of rotation to centre

of gravity of revolving object.

W
WA s
gr

wv

X B. F:_z
gr

FE

Vo
gr

wr?

X0 F=—"
gr

Question ID : 1841223609

Q.20 A tiangular lamina with base width b = 30 mm and height h = 50 mm is as shown in below figure. The location of

Ans

centroid measured with respect to its apex is at a distance of

s

X

A A 41.32mm
5 B.25.00 mm
# C.16.66 mm
" D.33.33mm

mm.

Question ID : 1841223606

Section : Disci 2

Q.1 Arbitrary value given by Slitcher for Radius of influence for Unconfined aquifer is:

Ans

X A75m
X B.600m
& C.150m
< D.300m

Question ID : 1841223626
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Q.2 The vacuum gauge connected to the chamber measures areading of 60 kPa and
atmospheric pressure at that pointis 150 kPa, The absolute pressure of chamber is

Ans X A 60kPa
o B.210kPa
% C.150 kPa
2 D. 90 kPa

[ Question ID : 1841223629

Q.3 Which of the following is not the product of hydration of ordinary Portland cement?
Ans X A Tetracalcium Aluminoferrite

«" B. Calcium Decahydrate
5 C. Di-calcium Silicate
#< D. Calcium Hydroxide

Question ID : 1841223635

Q.4 In making aconcrete sample 0.45 water cement ratio was adopted. What happens, if
the said water cement ratio is increased and other varibles are kept constant, for a
given volume of concrete?

Ans & A. Strength concrete decreases
25 B. Workability of concrete decreases
25 C. Strength of concrete increases

#< D. Change of water cement ratio doesnot affect the hardened and fresh concrete
properties

Question ID : 1841223636

_— — _—
Q.5 Which of the following dataitem is not broken down into smaller units is?

Ans X A.Meta data
" B. Elementary data item
< C.Database management

< D. Data entry

[ Question ID : 1841223633

Q.6 As per|S 8112 - 2013, If the initial setting time of ordinary Portland ce ment-grade 43 is
______ such cement should be rejected.

Ans X A 45minutes
" B. 25 minutes
25 C. 55 minutes
25 D. 35 minutes

Question ID : 1841223634
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Q.7 “Dormitories” belongs to which subgroup, Under Classification of Group A buildings
by National Building code of india.

Ans X A.SubgroupA-4
«# B. Sub-group A-3
75 C. Sub-group A-5
75 D. Sub-group A-1

[ Question ID : 1841223618

Q.8 In what type of scaffolding the working platform is supported on movable
contrivances like ladders, tripods mounted on wheels?

Ans X A.Patented Scaffolding
27X B. Needle Scaffolding

«# C. Trestle Scaffolding
75 D. Suspended Scaffolding

Question ID : 1841223622

_—— e
Q.9 Ifthe Reynolds number is more than 4000 in a pipe flow, then the flow is called as:

Ans o A Irrotational Flow
75 B. Turbulent Flow

75 C.Translational Flow
< D. Laminar Flow

[ Question ID : 1841223630

Q.10 When afluid is at rest, rate of increase of pressure in avertical direction is equal to
the weight density at that point is called as:

Ans X A.Hydro Dynamic Law
25 B. Pressure Dynamic Law
«# C. Hydro Static Law

#< D. Pressure Static Law

Question ID : 1841223628

Q.11 calculate the Specific Weight of aliquid in N/m3, if the we ight of said liquid in 8 N for a
volume of 0.5 litre.

Ans o A 4000
7 B.8000
75 C.2000
< D. 16000

[ Question ID : 1841223627
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Q.12 The inner curve of an arched masonryis calledas ______.
Ans X A Arcade

< B.Baseline
#< C.Voussiors
«# D. Intrados

Question ID : 1841223621

Q.13 What operation the ALU of computer performs?
Ans & A Arithmetic

75 B. Logarithmic
27X C. Geometric
< D.Biometric

[ Question ID : 1841223632

Q.14 The type of closer used in masonry work obtained by cutting a triangular portion of the
brick such that half aheader and half a stretcher are obtained on the adjoining cut
faces is:

Ans X A. Mitred closer
75 B.Bevelled closer
4 C.King closer

25 D.Queen closer

[ Question ID : 1841223619
Q.15 One stroke in Internal Combustion (IC) engines is equalto ______.
Ans X A.0.5times the crankradius
#< B. 1 times the crank radius
«” C. 2 times the crank radius
75 D. 4 times the crank radius
[ Question ID : 1841223617

Q.16 The Gross command area of an Irrigation canal is 60000 hectares out of which 80% is
Cultivatable Command area. The canal Intensity of Irrigation for Rabi season is 60%
and for Kharif season of 30%. Then the Crop Ratio will be:

Ans X A 2667
< B.1.333
% C.1.986
& D.0.500

[ Question ID : 1841223625
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Q.17 ldentify the correct statement regarding most economical rectangular channel.

Ans & A. Hydraulic depth is half the depth of flow
75 B. Width is half the depth of flow

< C. Width is 3/4™ the depth of flow

7< D. Hydraulic depth is 3/4% the depth of flow

Question ID : 1841223631

Q.18 Mhich of the following method of Irrigation is most suitable method for Steep land
[Terrain?
Ans X A.Check Flooding

< B.Basin Flooding
27X C.Border Flooding
" D. Free Flooding

Question ID : 1841223623

Q.19 ldentify the Dicken's formula used for estimating the Flood Discharge (Q).
Ans A Q=CA®* where A is the catchment area and C is flood coefficient.

X B.Q= 123A"/2, where A is the catchment area.

7 C.Q = CA%®, where A is the catchment area and C is flood coefficient.

X DQ-= CA2/3 where A is the catchment area and C is flood coefficient.

Question ID : 1841223624

_—e———— ==
Q.20 In the chemical method for underpinning foundations, which of the following solution
is injected in water after pipes are driven?

Ans & A Sodium Silicate

#< B. Calcium Silicate
#< C.Sulphate
25 D. Magnesium Silicate

[ Question ID : 1841223620

Section : Discipline3

Q.1 Which among the following factor increases the rate of demand in the consumption of
water.
Ans X A. Stable community

75 B.Increased water rates
«# C. High pressure in the system
75 D. Intermittent supply

Question ID : 1841223649
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Q.2 As per IS 10500 :2012, What is the permissible limit for the sulphate content (as SO4
in mg/l) present in drinking water in the absence of alternate source?

Ans X A.500 mg/l
7 B. 600 mg/!I
& C. 400 mg/I
7 D. 200 mg/I

[ Question ID : 1841223652

Q.3 Schmutzdecke is asurface coating formed in which type of filter in filtration process?
Ans X A. Mixed Media Filter

" B. Slow Sand Filter
75 C. Dual Media Filter
75 D. Rapid Sand Filter

Question ID : 1841223654

Q.4 Calculate the bulk modulus of a material, whose young’s modulus is 120 Gpa and
poisson’s ratio 0.25.

Ans X A.100 Gpa

< B. 60 Gpa
" C.80Gpa
75 D.40 Gpa ) o(\
Q>
QC)
3\) [ Question ID : 1841223642

Q.5 Identify the correct statement with respect to variogdtypes of admixtures used in
making concrete.

Ans X A.Addition of Superplasticizers in making concrete decreases the workability of
concrete for a given water cement ratio:

X B. Use of retarders in making concrete allows the concrete to increase the rate of early
strength development in concrete

2 C. Accelerating admixtures are added to allow.the concrete to be plastic and workable
for a longer time than concrete without accelerators.

«# D. Addition of Superplasticizers in making concrete decreases the water cement ratio
required to attain a particular degree ofworkability.

[ Question ID : 1841223641

=

Q.6 Socket and spigot are absent in which of the following joint used in the joints of Sewer
pipes.
Ans X A. Tyton Joint

¥ B. Viking Johnson Coupling Joint
25 C. Expansion Joint
<X D. Socket and Spigot Joint

[ Question ID : 1841223651
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Q.7 A city has asupply of 15000 cubic meters of water per day is treated with achlorine
dosage of 0.5 ppm. For this purpose, the requirement of 25% bleaching powder per
day would be.

Ans X A.45kg
«” B.30kg
X C.15kg
2 D.90 kg

[ Question ID : 1841223655

Q.8 Which of the following in not the natural light weight aggre gate used in making light
weight concrete?

Ans o A Perlite
#< B. Scoria
X C. Diatomite
< D. Pumice

Question ID : 1841223639

Q.9 Consider below statements with respect to shear stress distribution in T sections
and identify correct answer.

Statement A: Shear stress developed in any T section will always be maximum at the
junction of flange and web.

Statement B: Shear stress developed in aT section will be maximum at its neutral
axis.

Ans X A.Statement A is correct and B is incorrect
# B. Statement B is correct and Adis incorrect
#< C. Both statements are incorrect

#< D. Both satements are correct

[ Question ID : 1841223645

Q.10 Consider below statements with respect to workability of concrete and ide ntify
correct answer.

Statement A: For a given quantity of water and paste, smaller size of coarse
aggregates will give higher workability.

Statement B: Lower aggregate cement ratio make the concrete mix cohesive and
fatty to give better workability

Ans X A Both satements are correct
«" B. Statement B is correctand A is incorrect
25 C. Both statements are incorrect

< D. Statement A is correct and B is incorrect

Question ID : 1841223640
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Q.11 Identify the type of truss shown in below figure based on degree of redundancy. Consider that truss is supported with
roller type at A and hinged type at F.
} .

B D

Z}r c E ’4;

|
Mam 3m am

1000N 1000 N
Ans X A. Deficient truss

«# B. Perfect truss
#< C.Overrigid truss
#< D.Redundant truss

Question ID : 1841223648

Q.12 Consider below statements with respect to sulfate attack on cement concrete and
identify correct answer.

Statement A: Expansion of cement paste takesplace in concrete due to sulfate attack

on concrete.
Statement B: Calcium aluminate hydrate can react with sulfate salts and produce

calcium sulfo aluminate.
Ans X A.Statement A is correct and B is incorrect

” B. Both satements are correct
< C.Both statements are incorrect

#< D. Statement B is correct and A is incorrect

Question ID : 1841223638

Q.13 A cantilever beam of length 4 m carries a gradually varying load, with an intensity zero
at free end (B) to 3 kN/m at fixed end (A). Calculate the magnitude of bending moment
atA.

Ans X A.2kN-m
K B. 4 kN-m
& C.8kN-m
* D. 6 kN-m

[ Question ID : 1841223643

Q.14 A rectangular strut of width 150 mm and thickness 120 mm carries aload of 180 kN.
Calculate the maximum stress in the section if the load is eccentric by 20 mm in the
direction of width and concentric in the direction of thickness.Consider that the direct

stress due to applied load as 10N/mm? and stress due to eccentric loading as 4
N/mm?2. Ignore the self weight of the strut.

Ans A 18 MPa
X B.16 MPa
X C.10 MPa
X D.12 MPa

[ Question ID : 1841223646
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Q.15 In the design of a sedimentation tank, aflow of 5 MLD occurs. If the surface loading
2

rate is to be 2 Iiters/day/cmz, calculate the surface areaof basin in m“.
Ans X A.25000
#< B.250

& C. 2500
X D.25

[ Question ID : 1841223653

Q.16 The most suitable type of Distribution system in which main pipe lines are provided
around the areai.e., peripherally for atown or area having well planned streets and
roads is?

Ans X A Reticulation System
#< B. Grid-Iron System
" C. Circular System
25 D. Dead End System

Question ID : 1841223656

Q.17 Calculate the power transmitted by a solid circular shaft of diameter 100 mm, if the
average torque transmitted by the shaftis 8 kN-m at aspeed of 150 rpm.

Ans X A.35mkW
< B. 30mkW
o C. 40mkw
K D. 25mkw

Question ID : 1841223647

Q.18 Which of the following method is more suitable for transportation of concrete in
highrise construction projects and fast too?

Ans X A.Belt conveyors
w# B. Crane with bucket and rope
#< C.Chute
25 D. Dumpers

[ Question ID : 1841223637

Q.19 AnImpermeable Geologic formation which neither contains water nor transmits water
is:

Ans X A Aquiclude
#< B. Aquitard
25 C. Aquifer
" D. Aquifuge

Question ID : 1841223650
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Q.20 A rectangular beam 200 mm wide and 400 mm deep is simply supported over a span
of 5 meters. If the beam is subjected to a uniformly distributed load of 4 kN/m, find the
section modulus of the beam.

Ans  _# A 533%x10°mm?
2 B.6.75x 10 mm?
2 C.3.56 x 10° mm?
2 D.4.16 x 108 mm?3

[ Question ID : 1841223644

Section : Discipline4

Q.1 Which of the following command is used In AutoCADD for opening anew drawing tab?
Ans X A.Ctrl+E

o B.Ctrl+ N
X c.ctl+w
X D.Ctrl+ S

Question ID : 1841223672

Q.2 As per recommendations of National Building organization of India, for small sewers
with 100 mm diameter, what is the gradient required to generate the self cleaning
velocity?

Ans X A.1in120
X B.1in30
% C.1in90
& D.1in 60

[ Question ID : 1841223657

—_—— =
Q.3 A soil sample has its porosity 30%, calculate its void ratio.
Ans X A.0.667

X B.0.176
X C.0.285
& D.0.428

Question ID : 1841223659

Q.4 Accordingto IRC, In the design of curves on urban road stretches with frequent
intersections, the limiting super elevation considered will be:

Ans X A.20%
% B.10%
K C.7%
& D. 4%

[ Question ID : 1841223675
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Q.5 According to IS soil classification, Silty soil has:
Ans X A. Particles Larger than 75 micron Sieve and exhibits larger strength when air dried

< B. Particles smaller than 75 micron Sieve and exhibits larger strength when air dried

«# C. Particles smaller than 75 micron Sieve and exhibits little or no strength when air
dried

75 D. Particles Larger than 75 micron Sieve and exhibits little or no strength when air dried

[ Question ID : 1841223660

Q.6 Calculate the distribution factor for the member BA shown in below figure, consider that EI is constant through out its

length ABC.
M%W%\
a !
4 B c
Ans X A.02
X B.0.35
 C.0.47
% D.0.58

Question ID : 1841223665

Q.7 According to Industrial dispute act 1947, no employer carrying on any public utility
service shall strike or lock-out any of his workmen:

Ans X A.Within 48 days of giving such notice
75 B. Within 25 days of giving such notice
" C. Within 14 days of giving such/notice
25 D. Within 20 days of giving such notice

Question ID : 1841223669

Q.8 Which of the following shortcut is used in AutoCADD for trimming geometry?
Ans X A.TM

« B.TR
XcCT
X D.TI
[ Question ID : 1841223673
=
Q.9 According to IS 18001 : 2007 code book, the Occupational health and safety, principle
1 Refers to:

Ans & A. Commitment and Policy
75 B. Management review
25 C.Implementation and operation

X D. Planning

[ Question ID : 1841223667
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Q.10 Respectin Environmental ethics can be described as:
Ans  «# A Willingness to show consideration for natural resources, wildlife, flora and fauna

25 B. Willingness to show consideration for natural wildlife, flora and fauna only
25 C. Willingness to show consideration for natural resources and wildlife only

25 D. Willingness to show consideration for natural resources only

Question ID : 1841223671

Q.11 Which of the following test determines the hardness or softness of bitumen?

Ans o A Penetration Test
#< B. Flash Point Test
25 C. Solubility Test

< D. Specific Gravity Test

[ Question ID : 1841223676

Q.12 Calculate the critical gradient at which quick sand condition occurs for a Coarse
grained soil, which has avoid ratio of 0.65 and specific gravity of 2.65.

Ans X A.1.333
X B.233

& C.1
< D.2.08

Question ID : 1841223661

Q.13 Consider below statements with respect to analysis of three hinged arches and
identify correct answer.

Statement A: Any rise or fall in temperature develops huge temperature stresses in

three hinged arches.
Statement B: Two hinged arch is more flexible when compared to athree hined arch.

Ans  # A Both statements areincorrect
7% B.Both satements are correct
#< C. Statement B is correct and A is incorrect

#< D. Statement A is correct and B is incorrect

Question ID : 1841223666

Q.14 Workman's compensation act 1923 came to force on______ .
Ans  _# A 1SYjuly 1924

X B.21%%Yuly 1924

< c.10Mjuly 1924

2 D. 12" july 1924

[ Question ID : 1841223668
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Q.15 Which of the following test is known as Quick shear test?
Ans X A Drained test

" B. Undrained test
25 C.Unconsolidated drained test

2 D. Consolidated drained test

Question ID : 1841223663

Q.16 Consider abeam AB with fixed end supports at both of its ends, the maximum number
of support reactions which can develop in the said case is ______ . Consider that the
beam is subjected to an inclined force of magnitude P kN.

Ans # A6
/5 B.3
K C.5
K D.4

Question ID : 1841223664

Q.17 Identify the external issue in the process of understanding the context of an
organization according to ISO 9004 : 2018.

Ans X A.Resources
< B. Size and Complexity
#< C.Innovation

«# D. Natural Environment

Question ID : 1841223670

Q.18 What is the shape of front view if a circular surface plane is making 30 degrees with
both Horizontal and vertical plane?

Ans X A.Oval
25 B.Line
" C.Ellipse
< D. Circle

[ Question ID : 1841223674

Q.19 The most uniform soil deposit formed after transportation of soil is:
Ans X A.Shore Deposit

#< B. Delta Deposit
" C. Wind Laid Deposit
25 D. Glacial Deposit

[ Question ID : 1841223658
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Q.20 Identify the Hough Compression index. ( C, ) equation for precompressed soil, where, e, is in-situ void ratio.

Ans

XA €. =0.15 (e, — 0.27)
X8 C,=0.2 (e, —0.27)
v C =03 (e, —0.27)
X 0. C, =025, —0.27)

Question ID : 1841223662

Section : Discipline5

Q.1 To calculate the compressive strength of compression member, Imperfection factor

Ans

considered for Buckling ‘class d’ is
< A.0.21

X B.0.49
X C.034
& D.0.76

QuestionID : 1841223691

Q.2 Consider below statements with respect to facing points of turnouts in railway

Ans

crossings and identify correct answer.

Statement A: Trains pass over the Crossing first and then they pass over Switches.
Statement B: Trains pass over the switches first and then they pass over crossing.

«# A. Statement B is correct and A is incorrect
#< B. Statement A is correct and B is incorrect
#< C.Both satements are correct

5 D. Both statements are incorrect

[

Question ID : 1841223679

Q.3 Minimum thickness specified by IRC-78-2000 for well steining in bridge foundation is

Ans

< A.600 mm
25 B.300 mm
«# C. 500 mm
25 D. 400 mm

Question ID : 1841223680
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Q.4 Inabolted connection, the ratio of nettensile areaatroot of threads to nominal plain
shank area of bolt may be takenas ______ as per IS 1367 (Part-1) or in the absence of
proof table

Ans X A.0.88
X B.0.87
< C.0.68
& D.0.78

[ Question ID : 1841223688

Q.5 Quantity of differents items of work in a two roomed building shown in below figure is to be estimated using centre line
method. The number of joints to be considered for the computation is

- w

|>

3
= Poom dm x 6m oo o x om g’

- . 400m s0om
o

Ans X A.3
& B.2
X C.1
X D.4

[ Question ID : 1841223694

Q.6 Whatis the Sleeper density used in Indian railways for the main tracks
M is Rail length in meters)

Ans g AM+4toM+7

? (Where

X B.M+2toM+ 4
X C.M+5toM+ 10
X DM+3toM+6

[ Question ID : 1841223678

Q.7 The ductility factor considered for common structural steels exhibiting minimum
specified ductility, while calculating effective net areain case of design of tension
members will be

Ans X A2
X B.O
& C.1
X D.3

Question ID : 1841223689
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Q.8 According to IS 800 - 2007, the effective length of prismatic compression member of unsupported length L is restrained

against rotation and translation at both ends will be

Ans o A 0.65L

X B.12L

X cooL
< D.0.sL

[ Question ID : 1841223690

Q.9 Identify the silicious rock based on chemical classification of Rocks.
Ans X A.Marble

" B. Gneiss
< C. Laterite
75 D. Dolomite

Question ID : 1841223681

Q.10 While conducting tension test on cement, load on the Briquette should be applied at:
Ans X A.0.13times from both the edges

#5 B. One third from both the edges
" C. Thecentre
75 D. Two third from both edges

Question ID : 1841223682

Q.11 A building requires 9 RCC columns of size 0.2 m breadth, 0.2 m thickness and 4 m
height. Estimate the quantity of steel reinforcement required, if the steel
reinforcement to be provided is 1.5% by their gross volume.

Ans X A.0.956 quintal
«# B.1.695 quintal
< C.1.897 quintal
25 D.2.469 quintal

[ Question ID : 1841223695

Q.12 In which of the following case the lime slakes relatively in slow manner during Slaking
oflime?
Ans & A Limes from fine grained,stones and Dense lumpy lime

#< B. Limes from fine grained stones and Pulverized lime
#< C. Limes from Coarse grained stones and Dense lumpy lime

75 D. Limes from Coarse grained stones and lumpy lime

Question ID : 1841223683
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Q.13 Which of the following type of estimate works out the quantities of each item of work
to arrive the cost?

Ans X A.Preliminary estimate
< B. Cube rate estimate
< C. Plinth area estimate

«” D. Detailed estimate

[ Question ID : 1841223692

Q.14 According to 1S-2062 for E 165 (Fe 290) grade of steel, the minimum elongation
percentage is ______.

Ans X A 45
X B.72
o C.23
2 D.30

Question ID : 1841223686

Q.15 Consider below statements with respect to terms used in valuation and ide ntify
correct answer.

Statement A: The value of aproperty at the end of the utility period without being
dismantled is known as scrap value.

Statement B: The value of property or structure reduced due to areason that “out of
date in style” is known as obsolescence.

Ans X A.Both satements are correct
< B. Statement A is correct and B is incorrect
4 C. Statement B is correct andA is incorrect

X D. Both statements are incorrect

[ Question ID : 1841223696

Q.16 WhatIs the maximum permissible speed for group D Indian Railways as per Indian
railway specification?

Ans X A.130 kmph
25 B.160 kmph
25 C.120 kmph
«# D. 100 kmph

Question ID : 1841223677

Q.17 Which of the following is the correct unit of measurement for “quarrying of stone or
boulder”?

Ans & A. Cubic meter
#5 B. Numbers
#< C.Square meter

25 D. Running meter

[ Question ID : 1841223693
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Q.18 The heaviestI-section for the same depth In IS classification of Rolled steel Beams
will be:

Ans o A ISHB
7 B.ISLB
< C.ISWB
< D.ISMB

[ Question ID : 1841223687

Q.19 Star stake, atype of defectin timber arises due to ______ .
Ans X A.wind causing young tree to turn in one direction

«” B. severe frost and fierce heat of sun
27X C. greater evaporation of sap at the end grains of log

25 D. growth of layers of sapwood over Wounds

Question ID : 1841223684

Q.20 French polish used in paintings is what type of varnish?
Ans X A. Water Varnish

«# B. Spirit Varnish
#5 C.Flat Varnish
75 D. Acrylic Varnish

Question ID : 1841223685
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